2004 2005 2006
6-
335,000 326,000 316,000
70% 75% 78% (
*100
4 250 4 300 4 350
174,000 200,000 240,000
6-
17 7 15
5 4 3




3,996,685 3,778,660 218,025
980,122 871,959 108,163
6: 980,122 871,959 108,163
6- 925,749 817,586 108,163
540,400 440,400 100,000
(3110-3112-220-401-01)
CCTV = 60,000
- 2 = 30,000
= 10,000
338,147 329,984 8,163

(3110-3112-110-101-09)

@ )

6 ) (=315,651)
30,030 * 14 * 273
114,775,000 * 4/12
30,030 * 14 * 6
30,030 * 14 * 15
30,030 * 14 * 65
114,775,000 * 1.5/12

114,775,000 * 10%

114,775
38,259
2,523
6,307
27,328
14,347

11,478




)
5,630 * 30  *14 * 12 = 28,376
15,010 * 8 * 1/2 * 273 = 16,301
30030 * 14 * 15 = 6,307
120,000 * 14 * 12 = 20,160
70,000 * 14 * 12 = 11,760
90,000 * 14 * 12 = 15,120
30,000 * 14 *6 = 2,520
315,651,000 - 307,990,000 = 7,661
(=22,496)
315,651,000 * 1.45% = 4,577
315,651,000 * 4.5% = 14,205
315,651,000 * 0.6% = 1,894
= 1,820
22,496,000 - 21,994,000 = 502
3,005,820 2,906,701 99,119
(3110-3112-110-101-01)
= 645,872
645,872,000 - 598,093,000 = 47,779

(3110-3112-110-101-02)

880,000 * 3 * 12

31,680




(3110-3112-110-101-03)

= 56,160
56,160,000 - 53,040,000 =
(3110-3112-110-101-04)
= 54,480
54,480,000 - 52,080,000 =
(3110-3112-110-101-06)
= 134,557
134,557,000 - 124,603,000 =
(3110-3112-110-101-07)
= 40,367
40,367,000 - 37,381,000 =

(3110-3112-120-201-01)

(30,000%352+40,000%13 )+(5,000%184 )= 12,000

- (30,0001 *102 )+(5,000*1 *56 )= 3,340

15,340,000 - 14,140,000 =

3,120

2,400

9,954

2,986

1,200

10,743

10,743

(5210-5211-420-802-01)




<"04

10,743




